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iy T F £ HEWRIRE K % 7 15HEARS | 15~645% | 655%LA L
% S 19,950 | 59,949 | 30,316 | 29,633 9,263 | 42,610 8,076
R F i % 472 1,392 728 664 177 956 259
=® B L 1,024 2,987 I, 487 1,500 463 2,025 499
#®" £ &# 1 T H 265 728 373 355 111 563 54
% ¥ & 2 T H 254 751 362 389 133 550 68
® £ & 3 T H 573 1, 482 786 696 273 1,108 101
wm £ B 4 T H 514 1,472 721 751 278 1,097 97
m #® 1 T H 242 692 336 356 114 521 57
w oM 2 T H 383 1,102 536 566 210 832 60
# i 1,322 3,729 1,899 1,830 569 2,486 674
5 # 72 218 141 137 41 173 64
4 ¥ T B 265 653 316 337 79 508 66
4  H# T H 212 595 299 296 66 452 1
4 3 T B 177 398 194 204 52 292 54
=4 . i 1,114 3,652 1,889 1,763 566 2,567 519
w % & 1 T H 703 1,975 946 1,029 453 1,365 157
m ® & 2 T H 291 845 444 401 151 623 11
m ® A& 3 T 8 231 673 337 336 138 489 46
m % & 4 T H 303 871 434 437 142 672 5T
w % & 5 T H# 423 1,243 612 631 180 969 94
m ® /& 6 T H 671 1,986 1,009 977 311 1,577 98
w % B 7 T H 390 1,120 570 550 204 852 64
A 1S 55| 870 2,475 1,248 1,227 340 1,680 455
A R H T B 43 103 64 39 14 80 9
A R B 2 T H 67 207 107 100 37 156 14
* & 626 | 1,793] 1,036 757 234 | 1,381 178
ARHERE AR M 13 31 15 16 2 24 5
i =1 412 [,353 679 674 187 897 269
F # M 100 412 242 170 53 289 10
= W = 112 431 223 208 59 277 95
X 2] iz 172 600 295 305 78 388 134
B M 75 261 134 127 36 170 55
iz 45 154 78 76 18 96 40

i #h 0 0 0 0 0 0 0
H il 0 0 0 0 0 0 0
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] H X X X X X X X
E e 28 | 76 44 32 12 57 1
= B yils Hh 4 14 10 4 2 12 0
D - B B 968 3, 046 1,544 1,502 614 2,134 298
E W R a1 1 T B 101 211 110 101 28 164 19
E W R &1 2 T B 470 1,139 5917 542 179 883 17
E W OB a1 3 T B 135 331 171 160 45 260 26
£ W R 81 4 T H 284 874 440 434 87 719 68
E W R i 5 T B 3117 920 455 465 91 47 82
E @ B gt 6 T H 433 1,354 658 696 216 1, 044 94
E W OB # 7 T H 267 760 392 368 152 571 37
£ W BR 8 8 T H 189 518 262 256 108 378 32
Vs i 105 418 210 208 63 253 102
T R 99 341 172 169 36 216 89
=2 7% 185 606 303 303 71 387 148
= (i) 436 1,282 644 638 147 913 222
i B F 312 1,030 514 516 118 656 256
R 86 296 150 146 45 188 63
B ¢} 519 1,577 758 819 238 1,086 253
E R 506 1,595 805 790 272 1,121 202
7k &H 56 169 85 84 19 114 36
[} B K 156 576 288 288 81 381 114
¥ &3] 1,051 3, 344 1,666 1,678 453 2,251 640
X B & 59 237 121 116 42 139 56
T vicl == 41 159 68 91 11 99 49
Rl # 72 244 114 130 40 161 43
B 7B 14 61 33 28 9 42 10
1 44 70 223 17 106 30 152 | 41
X - 38 142 70 72 14 92 36
& () H 134 494 246 248 85 349 60
= L3 H 76 291 144 147 32 189 10
ES ' i 22 94 48 46 1 60 23
t B M 52 210 110 100 25 135 50
T = 55| 35 118 63 55 13 4 31
= =) 34 126 59 67 19 " 68 39
e Hf 40 155 80 75 25 100 30
H ## 110 425 202 223 58 268 99
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